%72@EEX§§§957‘*¢1&1%*%&% 2019/7/1
B M =®

Li—c | EEE | BFU—A | AL | T4—ur | sisTe | mEm | o | PR, | exaz mw
@) X X X i1 — 3|5 — 7|11 — 16276 — 325
T 3 — 0]l0 — 3|1t — 2|1 = 2 ( -2) ( -2) ( -5 ) ( -49 ) 4
6 — 1|11 — 6|2 — 4|2 -
93 — 70|59 — 94|59 — 70|65 — 91
X X X X 0 — 4|13 — 9|7 — 19|280 — 335
B-py—nl 0 — 3 1T — 2011 = 211 = 2 ( -4) ( -6 ) ( -12) ( -55 ) 5
— 6 2 — 4|2 — 42 -—
70 — 93 70 — 74|64 — 79|76 — 89
@) @) @) X 3 — 117 — 5|14 — 12|1248 — 293
AL |3 — o2 — 1 2 — 1 - 3| C2) [ C2) | C2) ( -45 ) 3
— 114 = 2 4 — 3 —
FA—7 |94 — 59|74 — 70 80 — 74| 0 — 90
@) @) X O 3 — 117 — 5|15 — 121298 — 277
SF—HR - - 1|1 = — 1| C2) | C2) [ C3) ( 21 ) 2
4 — 214 — 213 — 4 4 — 4
70 — 59|79 — 64|74 — 80 75 — 74
@) O @) X 3 — 1|18 — 4120 — 81344 — 216
s1pdml 2 — 1|2 — 1|38 — o1 — 2 ( 2) ( 4 ) ( 12 ) ( 128 ) 1
5 — 215 — 2|6 -— 4 — 4
91 — 65|89 — 76|90 — 0|74 — 75

1/ 11 R—=2




R4 : ENRREREXEEFF)77 Wi

EH: HEEWL1—-C)

AEHES: 1 (AEMvs B-FU—L)

=15 IFRNRAR -Vt 49—

iR

INEZE FA]EE

D1
BR AT
=K H%
D2
k# FE
RIR HLF
D3
B BT

L1—C
3 — 0
15 — 11
15 — 6
15 — 13
13 — 15
5 — 4
15 — 11
15 — 10

2/ 11 R=

B:-Fl)—L

m =T

M AT

e =¥

2 KRB

JKH BASE

N ER



R4 : ENRREREXEEFF)77 Wi

2B : H{EKE(L1—C)
AEES: 2 (ALvs 74—URX)
=15 IRJIRAR -Vt 59—

/S\ C

BEXR ([L5HH
D1 0
FH FliE

AR AHEY
D2 2
M AHEF

iR MER
D3 2

lLzBA k&F

3/ 11 R=

TA—DO A

) T g
R

28 EF
R HE

M EF

Hi EFMF



R4 : ENRREREXEEFF)77 Wi

EH: HEEWL1—-C)

AEES: 3 (B vs S1HITH)

=15 IFRNRAR -Vt 49—

iR

INEZE FA]EE

D1
BR AT
=K H%
D2
k# FE
RIR HLF
D3
B BT

4 /11 R—=2

15
15

12
15

15
15

Al EE

=2 EEF

TE £8
BIR H3E



RE4:

EH: HEEWL1—-C)

HEEZES: 4 (B-F)—Lvs AL)
IR N AR =Y E4—

=i5:

D1

D2

D3

B:-Fl)—L

e =¥

m =T

JKH BASE

M AT

NG ERX
2 KB

FN2EIXRKREEFEZF)77 ik

5/ 11 R=

15
15

15
15

/S\ C

K ALY
M T

R MER
lzB &F

BEAX ([FoH

FH i



RE4:

H: HEAE(L1-C)
AEES: 5 (Tr—IRvs S1HITH)

=i5:

D1

D2

D3

IR N AR =Y E4—

TH—I A

e &

A =MF

28 X=F

R HE

= B
R

FN2EIXRKREEFEZF)77 ik

L1—C

15 —
14 —

6/ 11 R=

FE =H

R =

Bl EE

=iE EBEF



REd: ENREREXREEFEF)77 i
e HFE(L1—C)

AEES: 6 (AEA vs 50)

25 IFNRAR-Yts5-

L1—C
E%@ 0 - 3 /S\Li
INEZE FA]EE 15 — 14 iRk HEY
D1 8 — 15
EE BF 4 — 5 m HF
=K &= 8 — 15 R NEE
D2 11 — 15
EiE & — z0O BF
Bif #bF 8 — 15 BARN (X5H
D3 5 — 15
=K &EF — FH FIfE

7/11 R=




A4 : ENRRRXRRARES)77 3
#EB: H#EEWL1—C)

HAEFS: 7 (B-FU—Lvs T+—9UR)
25 IFNRAR-YEU4-

L1—C
B:-Fl)—L 1 — 2 T4 —9OX
HitE =F 9 — 15 FlE B
D1 0 6 — 15 | 2
m =T — B T
NS ER 7 — 15 R EHF
D2 0 12 — 15| 2
B &F — HiE =Ff1F
kHE BAZE 15 — 12 8 X
D3 2 15 — 71 0
2 KB — R WKE

8/ 11 R—=



A4 : ENRRRXRRARES)77 3
#EB: H#EEWL1—C)

HAEEE: 8 (ALvsS1HTH)

25 IFNRAR-YEU4-

L1—C
A—T>
AL 1 — 2 S1%HB9H
R NEE 15 — 10 Al EE
D1 2 15 — 9] 0
lzA BFF — =2 EEF
K ALY 11 — 15 hE WBF
D2 0 13 — 15| 2
zA &EF — = XF
BAR (35H 5 — 15 FiE £H
D3 0 7 — 15| 2
FH F{E — BEE &N=E

9/ 11 R=



R4 : ENRREREXEEFF)77 Wi

EH: HEEWL1—-C)

HAEE'ES: 9 (AEA vs 74—V X)

=15 IFRNRAR -Vt 49—

iR

INEZE FA]EE

D1
BR AT
=K H%
D2
k# FE
RIR HLF
D3
B BT

15 —
15 —

10/ 11 R=Y

15
15

15
15

B SR
R



A4 : ENRRRXRRARES)77 3
#EB: H#EEWL1—C)

HAEEE: 10 (B-FU—Lvs S1HTH)
25 IFNRAR-YEU4-

L1—C

B-K)—L 1 — 2 S1H9H
JKH BAZE 14 — 15 Al EBE

D1 0 12 — 15 | 2
NG EW — =2 EEF
HitE =F 14 — 15 hE WBF

D2 2 15 — 11 | 1
2 KRB 5 — 3 =1 XF
ml =L 8 — 15 FiE £H

D3 0 8 — 15| 2
M BF — BEE &N=E

1M/ 11 R=



